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	I can compare the area of an enlarged shape with the original shape
	
	

	
	I can round to a given number of significant figures
	
	

	
	I can find the area of a 2-D shape, given the area of a similar shape and the ratio
	
	

	
	I can find the volume of a 3-D solid, given the volume of a similar solid and the ratio
	
	

	I need to practise …. 



Grade C:  1 to 7 marks

Grade B:  8 marks

Grade A:  9 to 16 marks
Name:


SIMILARITY: Grade A





Key descriptor: Find the area of a 2-D shape, given the area of a similar shape and the ratio; Find the volume of a 3-D solid, given the volume of a similar solid and the ratio





Score: __________/16		Grade:______
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5.	A normal chicken’s egg is 6cm tall.  An ostrich’s egg measures 15cm.  How many chicken eggs would you have to cook to end up with the same amount of scrambled egg as one ostrich egg would provide?



































__________eggs








6.	The ‘World’s Strongest Man’ contest includes an entertaining game of lifting concrete spheres of varying sizes.  If the smallest sphere has a mass of 100kg and a diameter of 30cm, what is the mass of the largest sphere, which has a diameter of 35.1cm?












































__________kg





The rectangle on the right is to be enlarged by a scale factor of 2.  Complete the statement in the box below:











Overall, for this homework I think my success level is: 
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Overall, for this homework I think my success level is: 
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2.	‘Premier Pizza’ offer pizzas in various sizes.  A 9” ‘Vegetarian Supreme’ costs £6.90, while the 18” version of this pizza costs £17.90.  Andy says, 

















Do you agree or disagree that the price is unfair?  Give reasons for your answer.




















Agree / Disagree:  Reason __________________________________________





_______________________________________________________________





_______________________________________________________________





3. 	Two circles have areas of 150cm2 and 500cm2.  Find the scale factor of the enlargement that maps the smaller circle onto the larger one.  Give your answer correct to three significant figures.











__________





The diagram shows two similar arrows.  Use the given measurements to find the exact value of h.
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Grade C


2 marks
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3 marks

















Grade C


2 marks


Grade B


1 mark


















































Grade A


3 marks
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2 marks
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3 marks


Total = 





_____/16
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The area of the original shape is ____ cm2.  The area of the enlarged shape is ______cm2.  Therefore the area of the enlarged shape is ___ times bigger than the original.





That’s a rip off!  18 inches is double 9 inches, but the larger pizza is much more than double the price.
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